Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C300009 Date: 06/ 01/2016
Subject Name: Applied chemistry (Group 1)
Time: 10:30 AM TO 12:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
1. Homo nuclear molecule contain —
(A) Polar covalent bond
(B) lonic Bond
(C) Covalent bond
(D) Co-ordinate Bond
Corrosion of metal involves-
(A) Physical Reaction
(B) Chemical Reaction
(C) Both
(D) None of these
Cement kiln is a-
(A) Rotary kiln
(B) Tunnel Kkiln
(C) Natural draft kiln
(D) Batch furnace
4. The monomer of PVC is
(A) Chloroform
(B) Ethylene dichloride
(C) Vinyl Chloride
(D) Ethyl Chloride
5.  Select insulator among the following.
(A) Silver
(B) Glass Wool
(C) Copper
(D)Human body
6. Temporary Hardness of water is responsible by-
(A) CaCl,
(B) MgSO,
(C) MgCl;
(D) Ca(HCO3),
7. On increasing temperature, Degree of ionization —

N

W



(A) Increases
(B) Constant
(C) Decreases
(D) None of these
8. In Vulcanization ,Rubber is heated with-
(A) Phosphor
(B) Sulpher
(C) Silicon
(D) Arsenic
9. Select Resin used in ion exchange method.
(A)Acid
(B) Basic
(C) Both
(D) None of these

10. Which formula represents a salt?
(A) KOH
(B) NaCl
(C) CH3sOH
(D)HCI
11. The following factor play a vital role in corrosion process-
(A) Temperature
(B) Solute concentration
(C) Both
(D) None of these
12. Nucleus of an atom contains-
(A) Electrons
(B) Protons
(C) Electrons and neutrons
(D) Protons and neutrons
13. For quality control of Portland cement the test essentially done is-
(A) Setting time
(B) Soundness and tensile strength
(C) Consistency
(D) All of the above
14. Thermocol is a-
(A) Fiber
(B) Plastic
(C) Elastomer
(D)None of these
15. Buna-S is also known as-
(A) Teflon
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(B) PTFE
(C)PAN
(D)SBR
. Neoprene is the trade name of-
(A) Poly chloroprene
(B) Poly isoprene
(C) Poly butadiene
(D) Styrene butadiene rubber
. Which one is not a characteristic of varnish?
(A) It should not dry very quickly.
(B) It should be chemically inactive.
(C) It should give a hard, tough and durable film.
(D) It should be soft and tender.
. Which one does not use to calculate hardness of water?
(A) Degree Clark
(B) ppt
(C) French degree
(D)Ppm
. An acidic solution could have a pH of-
(A7
(B) 10
(©)3
(D)14
. Rusting is special term given to the corrosion of which metal?
(A) Zinc
(B) Copper
(C) Nickel
(D) Iron
. Carborendum (SiC) is -------- type of refractory.
(A)Acid
(B) Base
(C) Neutral
(D) None of these
. Hardening of cement involves the chemical process-
(A) Oxidation
(B) Reduction
(C) Hydration and Hydrolysis
(D) None of these
. Which one of following used for sound insulation?
(A)Qil
(B) Paint
(C) Glass Wool
(D) Varnish
. Which one of following is a co polymer?
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(A)PVC
(B) Polyethylene
(C) Teflon
(D) Bakelite
. Covalent bond is formed between -
(A)Non metals
(B) Metals
(C) Metal and non metal
(D) None of these
. The molecule having intra molecular H-bond is
(A) Ortho chloro phenol
(B) Para chloro phenol
(C)H0
(D)NHs
. What is the pH of 0.001 M aqueous solution of HCI ?
(A) 3
(B)1
(©)2
(D)4
. Which factors affect the rate of corrosion?
(A) Nature of film
(B) pH of solution
(C) moisture
(D)all of the above
Which represent cross linking polymer
(A) Melamine
(B)PVC
(C) Nylon 66
(D) Teflon
. Orlon is a polymer of
(A) Styrene
(B) Tetra fluoro ethene
(C) Vinyl chloride
(D) Acrylo nitrile
. Chose the material used for refrigeration.
(A) Glass wool
(B) Thermocol
(C) Both (A) and (B)
(D) None of these
. The organic acid monomer in nylon-66 is -
(A) Lactic acid
(B) Adipic acid
(C) Tartaric acid
(D) Benzoic acid
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. Kesin glue is prepared from
(A) Milk
(B) Tree
(C) Starch
(D)Blood
In Portland cement the component having maximum percentage is-
(A) Lime
(B) Silica
(C) Alumina
(D) Magnesium oxide
. Glass is generally defineas ___ of potassium, sodium or calcium.
(A) Oxide
(B) Carbonate
(C) Nitrate
(D)Silicate
. Formula of bleaching powder is -
(A) CaCl,
(B) CaOCl,
(C) CoCl,
(D) Ca0,Cl,
. BOD stands for.
(A) Bio chemical oxygen demand
(B) Bio oxygen demand
(C) British oxygen demand
(D) Biological oxygen depletion
. Which one of following metal is used in galvanization?
(A) Zinc
(B) Copper
(C) Lead
(D) Silver
. Formula of rust is
(A)FeO
(B) FeO.nH,0
(C) Fe,O3
(D) Fe,O3; .nH>O
. Value of pH+pOH is
(A)14
B)7
(©o
(D)10
. The concept of electrolyte in water is described by-
(A) Faraday
(B) Ohm
(C) Debye
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(D) Arrhenius
Select electronegative atom.
(A) Sodium
(B) Potassium
(C) Magnesium
(D) Fluorine
The molecule containing coordinate bond is-
(A)NaCl
(B) [NH,] "
(C)N2
(D)CHy
In sheradizing which metal powder is use for coating purpose?
(A) Aluminum
(B) Iron
(C)Tin
(D) Zinc
The purest form of naturally occurring water is -
(A) Rain water
(B) River water
(C) Pond water
(D) Well water
Asbestos comes in the category of -
(A)Qil
(B) Paint
(C) Varnish
(D) Insulator
Natural rubber is a polymer of
(A) Butadiene
(B) Ethylene
(C) Styrene
(D) Isoprene
F,C=CF; is a monomer of -
(A)Orlon
(B) Teflon
(C) Nylon-66
(D)Buna-S
Paint film should possess all of the following property except -
(A) Washable
(B) Glossy
(C) Transparent
(D) Chemically inactive
One constituent of paint known as ““ oxygen carries catalyst” is
(A) Drier
(B) Thinner
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(C) Fillers
(D) Pigments
To delay initial setting of Portland cement __ is mixed in cement.
(A) Gypsum
(B) Alumina
(C) Magnesium oxide
(D) Ferric oxide
Which one of the following polymer is formed by condensation polymerization?
(A) Teflon
(B) Nylon-66
(C) Polystyrene
(D) Orlon
Thermosetting plastic is-
(A)PVC
(B) Polyethylene
(C) Polypropylene
(D) Bakelite
Buna—-Nisa___ material.
(A) Fibrous
(B) Plastic
(C) Resinous
(D) Rubbery
Drying of unsaturated oil followed by which chemical process?
(A) Oxidation
(B) Displacement
(C) Reduction
(D) Hydration
Zeolite softening process removes
(A) Only temporary hardness of water
(B) Only permanent hardness of water
(C) Temporary and permanent hardness of water
(D) The dissolve gases present in water
. To destroy germs ---- is add in drinking water.
(A) Fluoride
(B) Bromine
(C) Chlorine
(D) Chloroform
. Which one of following use in reverse osmosis softening of water?
(A) Soda lime
(B) Zeolite
(C) Resin
(D) Semi permeable membrane
. Tin plated iron instead of galvanized iron is used to make food cans because-
(A) Tin corrodes less rapidly than zinc in air.



(B) Tin and iron formed an alloy which does not corrode.
(C) Tin ions are not toxic while zinc ions are toxic.
(D) Tin is cheaper than zinc.
60. Chose weak electrolyte.
(A)KOH
(B) NaOH
(C)HCI
(D) CH3COOH
61. Formula for pH calculation is -
(A)—log [H20]
(B) log [H:0]
(C)-log[Hs0"]
(D) log [HsO']
62. Value of Ky, for pure water is-

(A)10*
(B) 10”
(C) 10™°
(D) 10"
63. Valency of sodium atom is-
(A)+1
(B) +2
(C)+3
(D)o
64. Chemical bond formed by equal sharing of electrons called-
(A) lonic bond
(B) Covalent bond
(C) Coordinate bond
(D) Metallic bond
65. pH of pure water at 25°C is-
(A)O
(B)1
)7
(D)14
66. Select artificial resin.
(A) Ambar
(B) Copal
(C) Shellae
(D) Alkyl resin
67. Full form of EDTA is:-
(A) Ethylene di amine tri chloride acid
(B) Ethylene di amine tri acetic acid
(C) Ethylene di amine tetra acetic acid
(D) Ethylene di amine tetra acetaldehyde



68. Graphiteisa _____ solid.
(A) molecular
(B) metallic
(C) ionic
(D) network
69. degree of ionization does not affect by-
(A) Temperature
(B) Nature of solute
(C) Dilution
(D)Size of vessel
70. Which one is not a step of manufacturing of cement?
(A) Mixing of raw material
(B) Burning
(C) Grinding
(D) Drying
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